1.  (5x-2y)(-3y)E Ztd3] stH?

D -15xy - 6y? @ -15xy - 5y? @—15xy + 6y?

@ 15xy + 5y? ® 15xy + 6y?

(5x = 2y)(=3y) = 5x x (=3y) + (=2y) X (=3y)
= —15xy + 6y°




2. (2x+y)(3x+2y) & HAAANA, xy ] A2

@ 2 @ 5 Ok @ 9 ® 11

B

(2x+y)(3x +2y)

= 6x% + 4xy + 3xy + 2)?
= 6x2 4 Txy + 2y?
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Bx+b)P=ax®+6x+1 L, 5 a b Fa+b o P2?

(© OB ®u @16 @ ©18

(3x 4+ b)? = 9x? + 6bx + b? = ax® + 6x + 1
a=9,b=1
La+b=9+1=10




D (a-b)*=(a+b) @ (a-b)*=(-b-a)

—(a+b)2 — (—a+b)2

(a-b)? = a® - 2ab + b?

(=b - a)? = a® + 2ab + b*

(a+b)? = a®+ 2ab + b?

(=b - a)?® = b? + 2ab + a*

@ —(a+b)? = —(a®+ 2ab + b?)
= —a? - 2ab - b*

(-a+b)? = a® — 2ab + b*

® (b-a)?=b?-2ab+ a*
(-a+b)? = a® — 2ab + b*




5.

O& T &2 A2?

flo

® (-a-b)?=

—(a+b)?

@(—a +b)? = a® — 2ab + b*

® (~a+2)(-a-2)=-da®>-4

@ (2a-b)? = 4a® - b?

® (a+b)?-(a-b)*=0
B
—a-b)?2={-(a+b)})®>=(a+b)?

—a+b)?={-(a-b)}’

(-a)?-22=a%-4
2><2a><b+b2—4a

(a+
Z, (a-b)? =a® - 2ab + b?

— 4ab + b?




4 BAL ALgate], 201 x199 B ALK o) 71 Welek BALL

® (a+b)? =a?+2ab + b?
@ (a-b)?=a*-2ab + b?
@) (a+b)a-b) = a®-p?
@ (x+a)(x+b)=x>+ (a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

~&B

201 x 199 = (200 + 1)(200 — 1)
— 2002 — 12
= 39999

. (a+b)(a-b) =a®-b*E 0|83t}




7.  (x4y)?+ (x—y)? & 0ds] HstA?

D x%+y? @ x2+2xy+y?
(@)2x2 +2y° @ 2x% + xy + 2y?

® 2x% + 2xy + 292

(2 + 2xy + y%) + (22 = 2xy +y?) = 2x2 + 2)?




8. (x-3)(x*+9)(x+3)= HI/N5tH?

D x2-9 @ x?-81 ® x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x>+9) = (x> -9)(x2 +9) = x* - 81




D 2542 + 9b?
® 35a? — 3ab + 162
@35a2 — 29ab + 6b>

@ 2542 — 10ab + 4b?

@ 35a® - 21ab + 6b>

B
1:10])

SRR ERE
= (7t=) x (A=)
= (7a — 3b)(5a — 2b)
= 35a% — 29ab + 6b*




10, (x-4)(x-2)(x+1)(x+3)—-25 = Ax* + Bx* + Cx> + Dx + EY
™, A+ B+ C+ D+ E°| gh& F5tH?

®-2 @-1 ©o0 @ 1 ® 2

B ~
(x=4)(x=2)(x+1)(x+3)-25
={(x-)(x+3)HHE-2)(x+1)} - 25
=(x*-x-12)(x*-x-2)-25
x?—x =12 x|¥sto] AElotH (1-12)(1—-2)—-25 = 1> - 14r-1
¥ —x=tE NYHH x* = 2x3 + ¥ - 14x2 + 14x -1 = x* -
2x% - 13x2 + 14x - 1
G2t A+ B+C+D+E=1-2-13+14-1=-1°|th
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x2-25

@ (x+5)(x=5)

16 — x2

@ (-4 +x)(-4-x)
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12. a-b=-2,ab=4 <L W, o + b o 727

@ 8 @12 ® -4 @ -7 ® -15

a>+b*=(a-b)?+2ab=(-2)2+2x4=12




